- wewuep
usiuid | Jajielsiy

Cou_o.to , 10-7100%70-L1 new ToIuRA

" peig @ T > s
3 S LINOYID 193135 TW&\MN\\ A/ | oen
£0-70070-L1 | 009d NOJLNI | HE | 98°€060 | oo
;Z.Q |.1.11l|st’illlzl.?!11?.\.:.L JIsuoy Iy b 1 H10 o AG «
—  eews 9oueIBI0ISIBWUY |6 (8 |2 | 9 “.n Ivle _ \ Iausu woq 00 € } 3
M : , 10 €— %)
wi@weg :
20 € ! ——0 v
€0 €— : ——0 N
90 - [ ———0 v
1
4€835-02834~ 123135 NOJINI 50 €— ; 4 0 w
90 €— : ——0 W
LQ € 40 w
T o0 av
ot "
€1
D& s
1} 01
3€= IloAT —o0 122
13534 &~ _JLA —0 o
My € _JA.AT —o0 v
1 BV JQATfoAT —O 812
W v ——0 €2V
| LY F_rOA—ﬁ —O €20
o nv
4 LV
5 61 : &I.m_lroA_.ll‘llo i
M| g
7 AS 114 3 8
g 21
]
SV _JIA mk
v, _I_laA_-‘ O szv
v ILAT —o0 S22
o8¢ FaY] F_L,AT O . 9cy
€ i, _JnoA_ﬂ o4z
0S oLy r_laA‘ O v
= o R -0 120
3 st o< —0 Wy
s 3 Le}——F—0 82
€S € - —
i a5 0z 3 i
e l\ﬁ 191
6 8
7] €A
7 .
o Y _.‘_,AA‘ o
300030 ¥ = -0 62V
. $31  quf = _J.OAT —O0 622
1 g = —0 otY
il Y 3] F_:A —0 08>
LTy Eln v €— o O 1Y
\v €& 7 —O €D
Oy €— o FFA\ —0  zev ﬁ
ﬁLm_l_.oA.T!|II|.|o €2 i 1V
— -1
AS 02 3 3

( ( e

pn gy snial
11 sepepiaao eyl pw Buiubel au

“PUAWWONPAAN JE 3114




X auep ystuig, SN L] -
0010 . e 23
10-7100%70-L1 »ew! oPIEA i3
WO-71W70L! 77 2
I peig | et (% 6on | 332
s ¢ ™ 0VJHILNT  XOB/OYVOBA3N Gl LF oA 23
MO-ﬁ8v\O.&. 1 W 007d NOJINI  H8 98'c0'60 ubay .m. 3
N 1onL Hisuoy 3 F
1 °
—  eexs 9ouRIBIOISIPWLL | 6 |8 £ {9 |G | v 1€ |1 |A8u 00 = m
wi@wag ..w. m
. 58
5=
2
avias > 41 NId 812101 2
L1N0 O— 20A o7 AS-
v | o - _b
IS
v | o— L
fan] O YHA TV L
w | O- 39NN0830 "
¥3INNOD *
91n0 n o idy AGe ab ol -
- adl
vo ziop 1353y
¢in0 sv | © Tl ¥0 o
S| O w3030 O———< 0 . g
oino v | O 0uv0BA I L _¢aa 3
6l
- uo ——<150
1S (2] o— 53 ———-=< 70
0 | o— l— <0
0 | o ————< 20
v | O F—==c4u
s 9 Ef O 00f———-=<o00
u ¥50 ———< My
s )
—8s 1)
n.lz aNg 199}
— 0 oave m ﬂA ‘P.ézo Wolss
wildyd O 0 ollllr,lA ovd Fav) 6NId 82 21 01
s¥3LI 91 €0 | O I,l_loAv L
Wi s1 uwd | o _’FA‘ -
P e
oW N 6 | O rFA 0sY ov
R g
18vIS €1 &Y | O———————— FJA 1Sy v
g 1 e | o J,I_IQAT 13534 p————< 1353Y
v N ev € O rrcﬂ,- 00}—————< 00
. maer R“nwm.Hu Lvd 12899W —————< 10
> — T —— 08d vid e e g
A 57l waamo AT A.Mu 9291 &
| e
7231 70
.||||||A
13 € O— I N B - < 50
e o
ny | o— oty FJA F————< 90
= [ 1 £7 RS I
S1D o— LEY gl = ) wp——m—m—mmm<
440-NONF®  Siv €f O oey ~ rJ|F.Dr m 2| |18 <3 e
1353% X08  £iv 21 O— (sea - .I,_JA Lad 153 2 a <
tvivo  €6) | o— [ _lr_ﬂ 182 tsob—————< 15
o—J —{ecy _(JA 059 }— AG+
ovivo 1D 6MS = _JA e
A
ot~ = » I Wy SYLL|Y
5y
Siv 0MS .uunnT ? A p 0Ll | €
: o 9y J— | Age G ¥3ne [ 614 ] .
tvivo 2! o ] el 1 m {
U .
" U o AS ASe -0y |0




—_— e ———

dujull T 10-710070-LT wew touA
LR L .. Tee T 6
G £ e 3Ov4Y3LNT  3113SSVO . A\.\v\w L0
m01ﬁ8.NO|N.~ 007d NOJINI | H8 98°t060 ‘ubay
N , e 1suoy
— s @ouesBlOISIEWIS 6 18 | L |9 mn Mv lg __ | [auay woq
B i Ni@wag
o2
0z ¥12Y
Mz 3102
Tono 7 -
B ML
[ p e}
([ R <3
4 ; ¥ALNND)
33 vNo 1ot
9101 e—la o9 .mh
T | o) =
ovol
3 AZ Sﬂlﬂu\
02 A
—12Z o

anNo
ovd

Lvd
08d

20A

— L
X
g 0 |
b14 a—T
24 o..]% H.l.
NI viva ®Jv Zf Y
=
v o KRB m o:m, o
20Md o oy 6E N1d 9Z 21 WOHS .
i ) )
1N0 vivo o Lhzl ,Iroﬂ _
o s
w P
10 o 9y
(e
S/d [eg [A3:] i
¥V IV Ir O [T _l_.A
PMF.FA -
AS-—{29A mrIA B
02| 434408
8201 _ x
SE NId 6191 WOMA -
>m.|c~l

1Z890KW
vid
8121

La

252
0s2

——————<90

| pem—— i 4

————< 15
A+

R
18

SYLL|Y
VTARES
w-0% |Bpr




¥JRWURD | ysiui4 | Jjeneisij

i

O LIVl

I LAD1'ELD1' 6217821 °LD1 OL AS+ - * O ZOV-Ir

, v 3
COLO._._O _ 10-7100%70-L1 new’ ) leyieA m m
LR e aiasev - | 2B K B wm
8!*#00&5 IN- — % OO.\& ZOUPZH WIm . @@.MO-@O! ubeL L Nld Tv’6221° 72210221 A W W
N o i nsuoy 2191 €191° 631" 921 £LJ1 OL QN9 iz

B, !-xmw o \oiu:.n._‘m_’c;.?::m,_m.,m”..”mﬂqu_mm_>cac »oq HI—IHHHHHHHH HIH M.W

P4 IR ]

62V -2r O-

i
L7y

ui-zr o

|
T

1
——o0
| |
¥ 07y
.

A+

ASe

SV VEYYL

0ov-2 O M T._
-
t

{aNo oy
ovd )
" ong3a B
153147135
a3SNNN 058 iz
- Y
ALIYVI0d
-9 © 1SHp——————< ¥
Y3ILNIEd
13534 13534
ZVAD = .
— <
{ 3113550
2 cde jt HESENn) EERRa
H H -.::. AS 1 NOOL3 Lvd —N(Q-@&U! 1a
-9f O— ————————< 20
H LIS 08d 7691
_ _ o S
€2 1oL 24 e €0
S19-2( | 193y ‘ ; 7
0O < 50
Ol ] F——————=< 90
e et o I
(CEea-ie -
-t o—m—m 3 3
00— L8d 1§ p—————< 2V
o————— 182 5p—————< 05
z82 05) AS+
&
oI 571°°" Ll YAy ]
9—Lr
ASe SY7LL
( 70LL
{ { -
< e 70 72

-0y




RICWUTE

by bt § bl b dmia — |

u0JQLI0

_ Olv\p ODNO -N. m new loiaeA

G G pei8

€0-7100%0-L1

007d NOOJLNI

18y

AOURIAIOISIBWILS | 6 _m lz19]ls|» nx_rp AUBY NOQ

BT AT

H8 | 98°€0°60 ubaL

NSUON

!

yiaewag

QYVO8A3N ©) £F

3L13SSVD 0y 2

L% eyl

(sng-nddl) Lr

st
ALIHY10d
YILNINd s

311355V
NOJLX3

I

pue AGL »

‘dNSYMd wouy 70 5

111

e
i

gl

ANI¥d XNKW
0
Lr

9f XOBHILIMS
o]

sr

23

5

g3

= ©

52

s

: 8
SYLL Y
70LL | €

987072 | Z
.?OQE




Side 1

att:JJK, SBP

Titel INTCON P 400
Udarb. dato: 29.01.1988

Udarb.
Rev.

af : BDJ

STYKLIGSTE

Oroion

_.___.-__—_—————_———-————_——_——_——-——__-.._——-_-_—-——_———-——-———————_—_--_——-_

D1
D2
D3
D4
D5

IC1
Ic2
IC3
Ic4
IC5
IC6
IE7
IC8
ICO
Icll
Icl2z
IC13
IC15
IC17
IC18
I€c19
IC20
IC22
Ic24
IC26

Dokumentnr. :
Udskrevet..:

B H PR R RRERERPRRRRRPHB PR

N

o

HHHHHEBEHRRPERREPRHERERERERPRPRRE

17040014.1/PL
05.02.88/11:38:43

236102600
236102600
215103400
215103400
215103400
215103400
215103400
215103400
215103400
215103400
215103400
215103400
215103400
215103400
215103400
215103400
236102600
215103400
215103400
204100400
204100400
204100400
204100400

470414800
470414800
452016000
452016000
452016000

304054030
304054030
304064030
304054030
304013930
304007330
304000030
304003330
304003030
304019130
304009330
304000430
304029930
304000030
343682100
343187100
304000430
304054030
304003230
343682100

Nr.: 1704001410
Titel
10 UF 16V SAL
10 UF 16V SAL
100 NF 10% 63V SIB
100 NF 10% 63V SIB
100 NF 10% 63V SIB
100 NF 10% 63V SIB
100 NF 10% 63V SIB
100 NF 10% 63V SIB
100 NF 10% 63V SIB
100 NF 10% 63V SIB
100 NF 10% 63V SIB
100 NF 10% 63V SIB
100 NF 10% 63V SIB
100 NF 10% 63V SIB
100 NF 10% 63V SIB
100 NF 10% 63V SIB
10 UF 16V SAL
100 NF 10% 63V SIB
1C0C NF 10% 63V SIB
10 NF =-20+80% CER
10 NF =-20+80% CER
10 NF -20+80% CER
10 NF -20+80% CER
1IN 4148
1IN 4148
Diode regd
Diode red
Diode red
SN 74LS540
SN 74LS540
SN 74LS640
SN 74LS540
SN 74LS139S
SN 74LS73
SN 74LS00
SN 74LS33
SN 74LS30
SN 74LS93
SN 74LS93
SN 74LS04
SN 74LS299
SN 74LS00
MC 6821
CDP 1871 ACE
SN 74LS04
SN 74LS540
SN 74LS32 N
MC 6821



Side 2

orforon

Titel : INTCON P 400 Nr.: 1704001410
Udarb. dato: 29.01.1988
Udarb. af : BDJ

STYKLISTE
att:JJK, SBP

Rev. : 3.1704

Lb.nr. Stk. Varenr. Titel

1Cc28 1 304054030 SN 74LS540

IC29 1 304000430 SN 74504

IC30 1 304015330 SN 74LS153

IC33 1 304054030 SN 74LS540

IC234 1 343682100 MC 6821

IC35 1 342200300 ULN 2003 AN SN 75468
IC36 1 320405000 CD 4050 CMOS

Jl 1 631664000 Stik 64P HAN V

J2 1 631632000 Stik 32P HAN V

J3 1 631632000 Stik 32P HAN V

J4 g 635013500 MOLEX ST. 3P HAN V+L
Js 1 635004112 MOLEX ST. 4P HAN V+L
J6 1 635006510 MOLEX ST. 6P HAN V+L
J7 1 635006510 MOLEX ST. 6P HAN V+L
MEK1 1 804251000 Skrue M2.5 x 10 PLJX-Z
MEK2 1 804251000 Skrue M2.5 x 10 PLJX-Z
MEK3 1 804251000 Skrue M2.5 x 10 PLJX-2Z
MEK4 1 804251000 Skrue M2.5 x 10 PLJX-Z
MEKS 1 804251000 Skrue M2.5 x 10 PLJX-Z
MEK6 1 804251000 Skrue M2.5 x 10 PHJX-Z
MEK7 1 812002500 Stjerneskive 2.5 mm
MEKS8 1 812002500 Stjerneskive 2.5 mm
MEKO9 1 812002500 Stjerneskive 2.5 mm
MEK10 1 812002500 Stjerneskive 2.5 mm
MEK11 1 812002500 Stjerneskive 2.5 mm
MEK12 1 812002500 Stjerneskive 2.5 mm
MEK13 1 810002500 Mptrik M2.5

MEK14 3 810002500 Mgtrik M2.5

MEK15 1 810002500 Mptrik M2.5

MEK16 1 810002500 Mptrik M2.5

MEK17 1 810002500 Mptrik M2.5

MEK18 1 810002500 Mptrik M2.5

MEK19 1 804300800 Skrue M3 x 8 PHJIX-2Z
MEK20 1 812003000 Stjerneskive 3 mm
MEK21 1 811003210 Skive 3M 3.2x6x0.5 mm
MEK22 1 810003000 Mptrik M3

MEK23 1 746000000 CARD HANDEL W. PIN

PCB1 1 704001400 Print INTCON

R1 1 103315000 1.50K OHM 1/4W 1%

R2 1 103327400 2.74K OHM 1/4W 1%

R3 B i 103327400 2.74K COHM 1/4W 1%

R4 1 103339200 3.92K OHM 1/4W 1%

R5 1 103339200 3.92K OHM 1/4W 1%

R6 1 103339200 3.92K OHEM 1/4W 1%

R7 1 103339200 3.92K OHM 1/4W 1%

R8 1 103110000 10.0 OHM .25W 1%
Dokumentnr.: I7040014.1/PL

Udskrevet..: 05.02.88/11:38:43



Side 3 Orroron

STYKLISTE
att:JJK, SBP

Titel : INTCON P 400 Nr.: 1704001410
Udarb. dato: 29.01.1988

Udarb. af : BDJ

Rev. : 3.1704

Lb.nr. Stk Varenr. Titel

R9 i% 103239200 392 OHM 1/4W 1%
R11 1 103310000 1.00K OHM 1/4W 1%
R12 1 103310000 1.00K OHM 1/4W 1%
R13 1 103310000 1.00K OHM 1/4W 1%
R14 1 103310000 1.00K OHM 1/4W 1%
R15 1 103310000 1.00K OHM 1/4W 1%
R16 1 103310000 1.00K OHM 1/4W 1%
R17 1 103310000 1.00K OHM 1/4W 1%
R18 1 103310000 1.00K OHM 1/4wW 1%
R19 1 101000000 0 OHM 1/4wW 1%
R20 B4 103339200 3.92K OHM 1/4W 1%
R21 1 103339200 3.92K OHM 1/4W 1%
R22 1 103339200 3.92K OHM 1/4W 1%
R31 1 103339200 3.92K OHM 1/4W 1%
R32 b 101000000 0 OHM 1/4W 1%
R35 1 103149900 49.9 OHM 1/4W 1%
R36 1 103149900 49,9 OHM 1/4W 1%
R37 1 103149900 49.9 OHM 1/4W 1%
R38 1 103149900 49.9 OHM 1/4W 1%
R39 1 103149900 49.9 OHM 1/4W 1%
R40 1 103233200 332 OHM 1/4W 1%
R41 1 103238300 383 OHM 1/4W 1%
R42 1 103339200 3.92K OHM 1/4W 1%
R43 1 103410000 10.0K OHM 1/4W 1%
R44 1 103339200 3.92K OHM 1/4W 1%
REG1 1 370781200 7812C +12V

RL1 1 600357400 RELE 3574-1301-052
RL2 3l 600357400 RELE 3574-1301-052
SIL1 I 186339018 8x3.9K OHM 0.1W 10%
SOl 1 640200100 IC-SOKKEL 20P

S0O2 1 640200100 IC-SOKKEL 20P

S03 1 640200100 IC-SOKKEL 20P

S04 1 640200100 IC-SOKKEL 20P
S015 1 640200100 IC-SOKKEL 20P
S018 1 640400100 IC-SOKKEL 40P
S019 1 640400100 IC-SOKKEL 40P
S022 1 640200100 IC-SOKKEL 20P
S026 1 640400100 IC-SOKKEL 40P
S028 1 640200100 IC-SOKKEL 20P
S033 1 640200100 IC-SOKKEL 20P
5034 1 640400100 IC-SOKKEL 40P
SWA 1 623010000 SWITCH 1P DIP-FIX
SWB 1 623010000 SWITCH 1P DIP-FIX
SWC 1 623010000 SWITCH 1P DIP-FIX
SWD X 623010000 SWITCH 1P DIP-FIX
Dokumentnr.: I17040014.1/PL

Udskrevet..: 05.02.88/11:38:43



Side 4
att:JJK, SBP

Titel :
Udarb. dato:
Udarb. af
Rev.

INTCON P 400

STYKLISTE

Oorioion

Nr.: 1704001410

SW9
SW10

Z1
z2

Dokumentnr. :
Udskrevet..:

29.01.1988
BDJ
3.1704

Stk. Varenr.
1 623010000
1 623010000
1 6230100060
1 623010000
1 623011000
1 623011000
1 441001500
1 441001500
17040014.1/PL

05.02.88/11:38:43

SWITCH
SWITCH
SWITCH
SWITCH
SWITCH
SWITCH

1P
1P
1P
1P

DIP-FIX
DIP-FIX
DIP-FIX
DIP-FIX
DIP-FIX
DIP-FIX

15 V ZENER DIODE
15 V ZENER DIODE



